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QUESTION 1

How many LUNSs are required for the Clone Private LUN?
A. one per storage system

B. one per SP

C. one per clone

D. one per clone group

Correct Answer: B

QUESTION 2

Which two components of a CX700 array do the standby power supplies connect to? (Choose two.)
A. The left and right power distribution units (PDUS)

B. Storage Processor Enclosure (SPE)

C. Disk Processor Enclosure (DPE)

D. the first Disk Array Enclosure (DAE2-0OS)

Correct Answer: BD

QUESTION 3

Which component of a Dell / EMC Storage Area Network (SAN) provides port bypass circuitry for failed drives and also
monitors environmental conditions?

A. Disk Processor Enclosure

B. Link Controller Card

C. Storage Processor Enclosure
D. Disk Array Enclosure

Correct Answer: B

QUESTION 4
For maximum availability, what is the minimum number of paths required?

A.2
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B.1
C.4
D.3

Correct Answer: A

QUESTION 5
Which two are examples of how SnapView can be used in conjunction with MirrorView? (Choose two.)
A. SnapView can be used to take a snapshot of the remote mirror and then back up the snapshot to tape.

B. SnapView can be used to take a snapshot of the remote mirror and then clone the snapshot for use at the primary
site.

C. SnapView can be used to take a snapshot of the primary mirror and then mirror the snapshot to the remote site.
D. SnapView can be used to take a snapshot of the remote mirror for use at the remote site.

Correct Answer: AD

QUESTION 6

Which two items are contained in a Storage Group? (Choose two.)
A. Hosts

B. Zones

C. RAID Groups

D. LUNs

E. HBAs

Correct Answer: AD

QUESTION 7

You have a source LUN on a CX500 for which you maintain snapshots for tape backup. You need to
create a new snapshot for this source LUN but are unable to do so. You can create snapshots of other
source LUNSs on the array.

What is the most likely problem?

A. You have reached the maximum limit of 50 Cache LUNSs.
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B. You have reached the maximum limit of 150 snapshots per storage system.
C. You have reached the maximum limit of 300 snapshots per storage system.
D. You have reached the maximum limit of 8 snapshots per source LUN.

Correct Answer: D

QUESTION 8

What are two benefits of Fibre Channel over SCSI? (Choose two.)
A. increased scalability

B. higher availability

C. A bus topology provides greater expandability.

D. Fibre Channel uses only optical cabling.

E. lower cost

Correct Answer:. AB

QUESTION 9

If you cascaded one switch to another, your total ports available to nodes would be .
A. the sum of the total ports, less the number of ports used for ISL connections

B. the sum of the total ports, divided by the number of switches in the fabric

C. the aggregate number of ports, less two ports forF_Port connections

D. the aggregate number of ports available in both switches

Correct Answer: A

QUESTION 10

Which three tools can help eliminate single-points-of-failure of data instances? (Choose three.)
A. SAN Copy

B. Analyzer

C. Navisphere Manager

D. MirrorView

E. SnapView
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F. CloneView

Correct Answer: ADE

QUESTION 11

Which two are components of the CX700 Storage Processing Enclosure? (Choose two.)
A. 15 hot-swappable 1-inch disk drives

B. dual hot-swappable storage processors

C. dual hot-swappable cooling modules

D. dual hot-swappable power supplies

Correct Answer: BD

QUESTION 12

How many Disk Array Enclosure 2s (DAEZ2s) can be connected to a CX500?
A.8

B.7

C.5

D.6

Correct Answer: B

QUESTION 13

You have installed SAN Copy. Which statement is true?

A. Any LUN within the SAN is automatically made available to be copied.

B. Theadmhost utility must be installed on each storage array that Navisphere Manager resides on.
C. SAN Copy sessions can be managed through theNavisphere Manager Enterprise Storage window.
D. SAN Copy cannot be upgraded, except by a complete re-install.

E. The storage array must be rebooted.

Correct Answer: C

QUESTION 14
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The enclosure address for a CX500 Disk Processor Enclosure should be set to .
A 14

B.0

C.1

D.7

Correct Answer: B

QUESTION 15

Which Navisphere user type has the ability to add users to a storage domain?
A. Root

B. Monitor

C. Administrator

D. Operator

E. Manager

Correct Answer: C
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